7= it AU T SR 7
P

REEHR [STT210) [4Xtr 1| SFABEIEARREIES]Y (LTFRR “4&
#&” ) F—FEFEHHEEESEZEREKT 1000 7T,

RHE (RFIEFRERESIBEERG]) FIUKE K. REILHEREES F—
FEEHMREESEFREMT 1000 HEh), AERESEHANMESATIERAR
[ $5 5% 3 B 5 A 2k 58 = AR I E FL ) B A oS 2 HE

(RFIEH R RESIZIEIRT]) BNEE =K. RSB RSE F—F
H¥E & % r= 3 EKT 500 /57, BREIESE 60 NS5 H B SR = EKT
500 FITCIBEERT, NS 1ERMEIHE 5 AN TI/EH A RREETE; (518 F R )EE
4f 120 N 5 HEESE = 3ETMET 500 HoH, N24i#ENEEEF.

BEREE NBUNAREE G LR S E P FE T Befil & (FAFEIEH R R EEIBE
R0 ZEUY 2K 58 =K HIHE T 0 BT iy I R v 1E B2 i) A o2 22 HE

ARG GRS = ER MR (RABHIEH R REE]
?:_.E?kﬂ’l T%ﬁ'ﬁ: 2155_ ﬁl_. 1 18 1._”5

4 1L 38 0




